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Chapter 13: Competition, Globalization, and Technology 

Questions for Thought and Review

1.
The monitoring problem is that employees have differing incentives than those of the owners.  Incentive-compatible contracts have incentives for each of the two parties that correspond as closely as possible.

2.
Economists recognize that there is a monitoring problem: employees’ incentives differ from the owner’s incentives and it’s costly to see that the employee does the owner’s bidding. When appropriate monitoring doesn’t take place, high-level managers can pay themselves very well.  To get a sense of whether they are really “worth it” one could compare the salaries to those earned where closer monitoring does take place (the text suggests comparing salaries earned in similar industries in Japan).

3.
X-efficiency is the result of firms operating less efficiently than they could technically. The economic forces of a market would knock a competitor out of business if the firm were operating less efficiently than the rest of the market, it could not make a profit, only a monopolist can produce inefficiently and remain in the game.

4.
X-inefficiency refers to firms operating far less efficiently than they could technically.  Such firms have monopoly positions but don’t make monopoly profits because the inefficiency raises their costs.  Competition generally pushes prices down, and so puts pressure on profits.  If firms respond by trying to cut costs, then competition will have the effect of reducing (if not eliminating) X-inefficiency.  If, however, entry of new firms is impeded, as it is in the real world, all existing firms would remain inefficient forever.

5.
Even if existing colleges are inefficient, competition from for-profit colleges would not necessarily force them out of business.  The invisible hand and social forces can keep such colleges from developing.  Moreover, some colleges receive state assistance or have endowments which allow them to hold their costs down even if they are inefficient.

6.
If it were easier for consumers than producers to collude, the result would be to force prices down, perhaps even below the equilibrium level.  This could result in shortages as suppliers would be reluctant to provide quantity at a low price.  The final collusive equilibrium would depend on the rationing mechanism for supply.

7.
By the same reasoning used in the answer to question 6, the price could decrease below the competitive equilibrium level.  At that below equilibrium price, some consumers could not get goods, but the consumers who could get goods would be able to hold the prices low nonetheless; it would be in their interest to do so.

8.
Patents are not necessarily bad.  Patents encourage the research and development of new products by offering some limited monopoly profits.  Without patents many new products might not be developed.

9.
Natural monopolies by definition are the result of a process in which market conditions dictate that monopoly is the most efficient way to produce in that industry.  To break up such firms would likely result in higher costs, and thus while there could be more competitors, the benefits associated with more competition, principally in the form of lower prices, would not be achieved.

10.
Technically competent firms may succeed.  But success depends on much more than technical ability.  Luck, legal fights, marketing ability, and a non-collusive industrial environment all play a role in making a firm successful.

11.
In the short run, launch a marketing campaign to retain brand recognition and loyalty to Round up.  In the long run, lower price to further cement the firm’s position in the market and to discourage entry. 

12.
Firms are not interested in just short term profits; they also look to long term profit.  The company believes establishing a market position in the short run will increase long run profits.


13.
Globalization increases competition by allowing greater specialization and division of labour.  In addition, companies can move operations to countries with a comparative advantage, lowering production costs. 

14.
Companies can specialize in smaller portions of production because their market grows to the world.  This can lead to increased productivity as firms learn by doing.  Technological advances require large investments in time and money.  Globalization allows for specialization and the possibility for large revenue for research.

15.
It needs funds to carry on research or new technologies and an ability to earn gains from that research.  Oligopoly best meets these criteria.

16.
The basic supply and demand framework of perfect competition leads to efficient outcomes but it assumes technology is unchanging or is unaffected by market structure.

17.
Network externalities lower costs as more people use a product.  As network externalities broaden the use of a product, a single standard becomes more important and eventually wins out.  The firm with the standard is the big winner and will dominate the market.  Even better technology will have a hard time competing with the standard.

Problems and Exercises

1.
a.
These differences do not undermine economists’ analysis of pricing, although they do not directly fit into it.  These goods are sold in oligopolistic markets in which consumer’s information is highly limited.


b. 
These are all examples of high fixed costs and low marginal costs.


c. 
What is being sold is more than the good; the image is part of the product and much of the cost is in the production of that image.  This suggests that the cost of producing is lower than the cost of selling.
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d. 
Each of these would be characterized as a luxury market as opposed to a necessities market where economists’ pricing analysis holds better.  In luxury markets, buyers can afford to be irrational (or whimsically rational) and be led to believe that the products do in fact differ.

2.
If suppliers were able to restrict their output to Qr, price would rise to Pr. Suppliers kept out of the market lose area E in producer surplus.  The consumers, on the other hand, lose both areas D and B. Area B is transferred to suppliers as additional revenue leaving D and E as deadweight loss.

3.
a.
Two reasons are: (1) it is a promotional tool appearing to give out free merchandise to stimulate consumer excitement for the product; (2) it is a way to create a third party payer system whereby the individuals making the decision which airline to fly and receive free merchandise, are not the ones who endure the direct cost of the purchased airline ticket.

b.
Another example of such programs is credit cards which provide rebates for high use.  A person who uses the credit card for business will enjoy the benefits of the program, but the firm pays for it.


c.
Although this does represent a cost to the firm, the cost of monitoring these programs probably exceeds the benefits of eliminating their misuse.  The cost of monitoring may include disgruntled employees who lose the benefits. 
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d.
Since these benefits are income to the individual, they should be taxed as such.  However, the cost of measuring this income and enforcing the taxes make it too costly to implement relative to additional revenues.

4.

See the graph to the right.  The monopolist would be willing to spend any of its profit.  This is depicted as the bolded rectangle A.

5.
a.
Firms may produce in Germany, because (1) transportation costs in the other countries may be very high, so that if these costs are included, it would not be efficient to produce there; (2) there might be tariffs or quotas for imports into Germany that will prevent producing elsewhere; (3) the productivity of German labour may be so much higher that unit labour costs in Germany are the lowest; and (4) historical circumstances may have led to production in Germany and the cost of moving production may exceed potential gains.

b.
Yes, one would expect some movement from Greece and Italy into Germany, but this is limited by the minimum wage laws in Germany.  Also, social restrictions such as language and culture will limit labour mobility.  With such high unemployment in Germany already, one would not expect much short-run movement.  Movement in the long run, however, may be substantial.

c. I would need to know the stability of politics, the worker productivity, the infrastructure such as roads, as well as tax differences between the two countries.

Web Questions

1.
a.
Nike paid Carolyn Davidson, then a recent graphic design graduate of Portland State University $35 in 1971.    She was later (in 1983) honoured with a diamond ring depicting the “Swoosh” form and (an undisclosed number of) Nike shares.


b.
Nike launched the new logo to emphasize its commitment to sustainable development.  It first appears on six 100% PVC-free footwear styles, as well as on select apparel, equipment, and Nike’s Reuse-A-Shoe and Air To Earth programs.


c.
Nike has more than 550 factories worldwide, employing more than 550,000 contract people.  Nike does business in more than 120 countries, and has a staff of 22,000.  Locating the production in the developing countries eliminates transportations costs and import duties, along with good will from bringing jobs to the area.


d.
From the beginning Nike was trying to be cutting edge.  Designing for athletes leads to technological advances and because many of their customers are international, subcontracting production to foreign firms began early.  They continued to innovate and by 1990 had an international market that continues today as they expand their markets further and advance the technology for both products and production.  Recently they have had some problems but you won’t find that discussed on the web site.

2.
a.
Dell sells computers and computer systems.  Their innovation in the market is that they sell their product directly through customer contact, made to order.


b.
Dell sells all over the world in more than 170 countries and territories. North America is still the largest source of revenue for Dell but more and more of their sales are from the Internet.


c.
Dell manufactures in Texas and Tennessee, USA; Eldorado do Sul, Brazil; Limerick, Ireland; Penang, Malaysia; and Xiamen, China.  Dell’s plan for future growth includes innovation within the information technology sector, adding new users and increasing replacement.  They plan to refine the direct approach to manufacturing, selling and service, use the Internet to improve efficiency.
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Chapter 14: Government Policy and Market Failures

Questions for Thought and Review

1.
Reasons for a potentially beneficial role of government intervention include: preventing restraints on trade, correcting information and rationality problems, correcting for externalities, and preventing unfairness.

2.
A market incentive program is more efficient because it makes use of the powerful force of the invisible hand, and unlike the direct regulation approach, it gets people to equate the marginal costs with the marginal benefits. 

3.
An economist might argue about the word “acceptable.”  While not many people would argue that any pollution is good, an economist who realizes that eliminating pollution completely is probably an impossible goal would find it acceptable if it could be reduced to a cost-efficient level.

4.
This tax is an example of a tax incentive program that attempts to make the price of oil reflect the negative externality.  If it works it should provide an incentive for the users with the lowest cost of reduction to decrease their consumption of oil.  If those with the lowest costs are significant users, then there will be a significant reduction.  Its effect depends on how high the tax is.

5.
The tax on oil will affect the pollution coming from oil, but it is possible that users could switch to other fuel sources that actually result in other and greater forms of pollution.  Moreover, some types of pollution would be unaffected.  Thus the net impact on the environment is difficult to predict.

6.
The property rights allocation would appear to follow the principle of:  cars own the road; pedestrians own the sidewalk.  The crosswalk is an extension of the sidewalk. 

7.
You might offer the average, $600.  If sellers of cherries want $700, your $600 would bring you only lemons, since only the seller knows whether they are selling a chance on a lemon.

8.
In a market, when buyers and sellers have different amounts of information about the good for sale, a problem occurs called an adverse selection problem.  The problem is that the market for quality products disappears. In commercial dating services, the seller certainly has more information about the negative (and positive) aspects of the product than the buyer.  We suspect that the market has fewer “acceptable” dates than the general population.

9.
Not only would buyers and sellers not have equal information to make a decision, they would not have any information, the mix would become potluck and the distribution of problems would reflect the natural aging of cars.

10
Moral hazard is a market failure which results when one party to the transaction withholds or misrepresents relevant information and then engages in opportunistic behaviour.  By levying a deductible, the insurance company is trying to reduce the number of claims it pays out.  Generally, the expected relationship would be the more safely one drives, the fewer claims one will need to make.  However, if you are willing to pay for “small” claims yourself (rather than charging the insurance company), you can drive as recklessly as you can afford.  To keep rates to a minimum, insurance companies have you participate directly in the cost of an accident.
11.

Health Canada protects us from unsafe drugs, but in so doing it creates enormous bureaucratic hassles for the manufacturers of all new drugs, many of which could be beneficial.  In some cases, by the time the Health Canada has approved a drug, many potential users were already dead.  This question requires weighing the costs against the benefits.

12.
This question asks students to list 5 ways the government is involved in their daily lives.  Many answers are possible beginning with (1) the label on their breakfast cereal, (2) the roads they use to get to school, (3) either the school they go to is public or private, (4) the tax they pay on the snack at the snack bar, and (5) the laws that are enforced on the roadways. 

Problems and Exercises

1.
a.
Proposal A would force a downward shift in each demand curve, while Proposal B would raise the price at each quantity, also shifting the demand curves down.


b.
The consumers in group 1 have a more elastic demand, and so a small increase in price results in a large decrease in quantity; these consumers can more easily adjust their usage, and so would favour Proposal A.  The members of group 2 would be more likely to favour the tax because changing their usage is more difficult.  Their inelasticity can be interpreted to mean that they are more willing to pay a higher price than to use less.
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2.
a.
Assuming perfect competition, the price and quantity will be set where demand crosses marginal cost with equilibrium price, P0, and equilibrium quantity, Q0.


b.
The socially efficient price and quantity would be where demand crosses social marginal cost, a higher price and a smaller output (P1, Q1).


c.
Such a proposed ban would have to be assessed in terms of the costs and benefits to everyone involved.  There is a lot of pertinent information not given here: for example, is this a community where commercial fishing represents a major industry?  Is sport fishing a major tourist attraction?  The answer to this question largely depends upon the questions it raises.

3.
a.
One could explain Seattle stomp if there were a per can charge for garbage.  To maximize the amount of waste per can (and thus per flat fee), Seattle citizens stomp their garbage.

b. A fee structure based on weight would eliminate the Seattle stomp.

c. No, there is no benefit to doing so.  In fact, if the garbage can is too heavy, the collectors will not dump it.

d. This depends on whether the fee is per can or per kilo.

4.
a.
The advantages of such fees reduce the quantity of animal trophies demanded, (assuming poaching can be prevented) thus reducing the damage to the stock of animals.  Further, the revenue could be used to improve the stock of animals or meet other needs of African nations.  This also provides an incentive for the local people to preserve big game since the price they could receive by poaching is less than the revenue from the fees.


b.
One argument against it is that condoning such slaughter at any price is immoral.  A second argument is that, by the time the optimal price is found, the animals may well be extinct.

5.
a. 
Most likely the price of all cars will rise in California and air quality will rise.


b.
This law might increase pollution as consumers hold onto their older, less efficient but lower cost, higher-performance gas cars and delay purchase of an electric car.  This will increase the average age of cars on the road, increasing pollution.  Furthermore, if electric cars (most likely candidate) are designed to meet the no-pollution requirement, it could be that the process of generating sufficient electricity to run the cars will produce even more pollution at which point even more regulation might be imposed.


c.
Economists generally favour market incentive programs over direct regulation.  A market incentive program to reduce pollution by a certain percent might be to tax drivers of older high-pollution cars and use the tax revenue to subsidize those who purchase new no-pollution cars. This approach will more likely equate marginal cost with marginal benefit.  However, those driving older cars also tend to be poorer, while richer people drive the new cars, so there are fairness issues to contend with here.

6.
a.
No, their findings do not necessarily mean that the U.S. has too many regulations.


b.
Each regulation must be examined in terms of marginal cost and marginal benefit to see whether it is worthwhile.

7.
a
Some dairy farmers would probably argue that labeling is unnecessary since the drugs they administer have been certified by the health agencies.  Other dairy farmers who do not use BST would support BST labeling.


b.
If BST were to be listed on milk containers, one could argue that all drugs and antibiotics should be listed.  However, such listing without more information may cause consumer concern.  To support BST labeling and not other labeling, one must argue that BST is different.


c.
One would suspect that dairy farmers who support BST labeling would not support the broader law that might include so many drugs that consumers become outraged at dairy farmers.  Only those few farmers who use wholly organic farming would support full labeling

8.
While there are benefits of licensing, it is often used as a way of restricting entry into the profession, and thwarting competition.  Thus, while some type of certification program may be warranted, licensing is probably not warranted.

9.
The advanced degree serves the same purpose as a license.  It reduces the supply and increases the wage.

10.
If the information alternative were introduced, existing doctors would likely lose, as their monopoly is reduced.  Customers who have wider options will gain, as will individuals just coming into medicine who also have more options about what type of study to pursue.

Web Questions

1.
a.
A public good is one with the characteristics of being nonrival and nonexcludable, which means that, once produced, it is freely available to all.  Canada’s system of social security arose following World War II from the need to reduce the risk of an uncertain economy.  The programs worked against the hunger and deprivation which accompanied the economic devastation and economic despair of the Great Depression and World War II.


b.
Support for public goods, such as health care, education, and research, result in benefits to all society — higher productivity, better decision-making, less crime, and better social integration.  Education is an asset because it builds the foundation of nations’ social and economic development.


c.
Education ensures that voters can read, think about, and understand the issues.  Saul is worried that education is treated as a cost, not as an asset, and that in slipping away from the simple principle of high-quality public education, we are undermining democracy.  The public good, education, should not die a “death by a thousand cuts.”

2.
a.
Criteria for the economics prize include originality, importance, and impact on future scientific work.


b.
Spence, Akerlof, and Stiglitz won the “Nobel prize” in 2001.  Akerlof introduced the notion of “asymmetric information” affecting market performance in his 1970 paper, “The Market for Lemons.”  Spence identified how market participants engage in “market signaling” to gain a benefit, and Stiglitz explored how the less informed market participant can elicit information from the better informed agent by offering choices where the option chosen reveals information.


c.
Coase won in 1991 for his work in clarifying the significance of transaction costs and property rights in institutional structures in the economy, specifically, he analyzed what determines the size of a firm.

d. Nash won in 1994 (jointly with John C. Harsanyi and Reinhard Selten) for work in the area of non-cooperative game theory.  Nash equilibrium is a non-cooperative game outcome, which requires rationality and complete information.
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Chapter 15: Competition Policy and Regulation


Questions for Thought and Review

1.
Judgment by performance is the view that competitiveness of a market should be judged by the behaviour of firms in that market. Judgment by structure is the view that competitiveness of a market should be judged by the structure of that market.

2.
In the bank mergers case, it was determined that the merger would substantially lessen competition, causing higher prices, lower levels of service, and less choice for customers.  In addition, the efficiency defense was rejected; the anticompetitive effects were not balanced by efficiency gains.

3.
Whether a particular company, even one as important as Standard Oil, was, or was not, broken up would probably not have much impact on the economy. However, if the populist forces that led to the breakup of Standard Oil had not existed, the entire industrial structure of the U.S. could have been different. How? That is tough to say: Maybe the United States would have had a Communist revolution; maybe the firms and the United States would have been stronger. The possibilities are endless.

4.
The 1986 Competition Act decriminalized the monopoly offense, which allowed for more vigorous enforcement.  It also created the Competition Tribunal, composed of experts in both law and economics, and introduced the pre-notification requirement, which eliminated the problem of “reversing” disallowed mergers (which can be prohibitively costly).

5.
A tie-in contract is one in which products are linked, even though there is no legitimate reason why they should be linked. To decide whether a course requirement is a tie-in contract, one would have to look at the specific course and offerings of the school. Some make sense; some don’t. Whether such rules should be against the law is a more difficult question: for government to enter into internal rule-making of non-profit firms would involve an enormous increase in government control and regulation which has significant costs.

6.
Financial aid is often need-based, and so in some sense is an attempt to equalize the price as a proportion of income for students. Again, the test is the impact, and for many students financial aid is the key to their access to the college of their choice. It may be more discriminatory in another sense not to have it. Moreover, the fact that something is discriminatory does not necessarily make it bad.

7.
Interlocking directorships are against the law because having the same individuals on the boards of supposedly competing firms tends to lessen the degree of competition. The cost of the regulation is an intrusion of government into private issues and the fact that the regulation makes it harder to get knowledgeable people on the board makes appropriate monitoring more difficult. As with all such policy questions, a decision might be made by weighing the costs and benefits.

8.
As an economist for the firm, I would want the broader definition of the market to make the firm’s share a smaller proportion. Thus I would argue for the three-digit industry as the definition of the market.

9.
Since we would want there to be more competition, we would argue that the relevant market was as broad as possible. This would make it less likely that the merger would violate merger guidelines. Since the offer is unsolicited, we would assume that Hasbro does not want to be taken over. Thus, if we were the lawyers for Hasbro we would argue for the narrowest definition of market. 

10.

In some ways the service has improved, but in other ways it has worsened. What would have happened in the absence of deregulation is difficult to say. What this tells us is that making judgments about policy is enormously difficult and requires intricate knowledge of the industry affected.

11.

According to the Competition Bureau’s guidelines this merger probably would not be challenged because the CR4 falls below the 65% threshold, however, it would likely depend on the market involved, and what would be the likely impact on price and competitive behaviour.

12.

Conglomerate mergers occur when two relatively unrelated businesses merge. They tend to be approved under our competition laws on the assumption that they do not significantly restrict competition. These mergers should be considered like other mergers in terms of their effect, and approved or not on that basis. A blanket policy against such mergers might foreclose some opportunities that would benefit firms and the economy.

13.

The globalization of the Canadian economy has enlarged the relevant market to the international market in some cases. Policy focus has changed from: Is the industry competitive so not to take advantage of the consumer? to: Is the industry internationally competitive so that it can compete effectively in the world economy?

14.

The two methods for government for dealing with natural monopolies are regulation and government ownership. Price regulation usually takes the form of requiring the firm to charge its average total cost plus a profit margin, however, this gives the firm no incentive to hold down costs and cost increases lead directly to price increases. Another problem is that once regulation is established it may extend far beyond the natural monopolies and be introduced into industries where competition could work. Government ownership of natural monopolies is used more often in European countries, and also has the problem of no incentive to hold costs down or to introduce new technologies. Government owned firms who guarantee jobs, have high wages and pass higher costs to the consumers. 

15.
 
An industrial policy is the formal policy that government takes toward business. There are difficult political issues involved in such a policy. To avoid these problems one would want it administered by a semi-autonomous agency which would be immune to political pressures. Whether this is possible is difficult to say.

Problems and Exercises

1.
a.
Since the Ecofame index places more weight on large market shares than does the Herfindahl index, one might consider a hypothetical industry where the four top firms each have 16 percent of the market and all other firms are very small. Such an industry would have a four firm concentration ratio of 64 (just under the Competition Bureau’s benchmark, 65%), a Herfindahl index of about 1,000, and an Ecofame value of about 16,000. Thus an Ecofame value of 16,000 would correspond to a CR4 of 65 for this particular industry structure.

b. The result of using the cubes instead of the squares is that the effect of large market shares is magnified. So uneven market shares would be more strongly discouraged. Whether this is an advantage or a disadvantage may be a matter of point of view.

2.

In a monopolistic competition model the firms have only a small share of the market and make no profit so competition policy would have little effect. In a cartel market, firms get together and allocate market share.  Competition policy would prevent that, holding prices down, and increasing quantity. In a contestable market model, potential competition, not market structure, determines equilibrium, so competition policy would have little effect unless it influenced potential competition.

3.
a.
 In the toy industry, the four-firm concentration ratio is 35. The Herfindahl index is about 112 + 240 + 25 + 16 + 65 = 458. This value assumes there are 69 firms, 65 of which have one percent of the market apiece. In the infant/preschool market the four-firm concentration ratio is 72. The Herfindahl index is about 64 + 144 + 729 + 625 +28 = 1590. This value assumes there are 32 firms, 28 of which have one percent of the market apiece.

b.
I would suggest using the broader toy industry market that has a lower concentration ratio and Herfindahl index.

c.
The merger might decrease competition if increased market share allows Mattel to limit output and increase prices or if it is able to create significant barriers to entry by controlling distribution.


d.
It may increase competition since a combined Mattel and Fisher Price (15% market share) might be in a better financial position to compete against Hasbro, which already enjoys a 15 percent market share. If there are economies of scope and scale, this is especially true since production costs would decline.

4.
a.
The likely basis of this suit was predatory pricing to keep price so low that Aardvark Airline competitors would go out of business and so that it would enjoy a monopoly position and raise prices.


b.
Knowledge of their financial instability only strengthens the argument. It suggests that Aardvark Airlines would not have to hold prices down for too long before its competitor folded.
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5.
a.
 Regulating the price of a monopolist makes the relevant demand curve perfectly elastic. In this example, regulators set price where MC intersects demand. Monopolist charges Pc and produces Qc. The demand curve would be the marginal revenue curve, and the monopolist would produce where MC = MR = P just as a competitor would as shown in the graph at the right.

b.
Regulation in a contestable market view of the competitive process is far less likely to have the effect shown in the diagram because with contestable markets, with fewer barriers to entry, the oligopoly will set prices closer to the competitive price thus eliminating the need for regulation. There would not be much room for regulation to reduce price and increase output.

c.
If one follows the cartel view, the argument for regulation is much stronger since the stronger is the cartel, the better it can restrict supply and increase price. As the cartel becomes stronger, then, regulation is far more effective in reducing price and increasing output as in the graph above.

Web Questions

1.
a.
The following four acts fall under the jurisdiction of the Competition Bureau:  Competition Act, Consumer Packaging and Labelling Act, Textile Labelling Act, and Precious Metals Marketing Act.  Your complaint is confidential. Civil complaints are referred to the Competition Bureau; criminal complaints are referred to Canada’s Attorney General for possible prosecution in a criminal court.



b.
Topics include:  multi-level marketing, gasoline prices, and telemarketing.  Recent warnings will vary, but probably include a telemarketing or mail solicitation warning.


c.
It addresses concerns of misleading environmental claims, unsubstantiated and vague claims, and provides guidance on the use of labels such as “biodegradable,” recyclable,” and “recycled.”  A global approach was taken because Canada is a member of the global community, and imports many items from abroad.
2.
a.
The ICN is an international organization which will promote the cause of competition and assist development and developing countries to build an enforcement network in an increasingly global market, where competition policy is national in scope; and enhance cooperation in competition policy, for more effective and efficient enforcement of competition policy worldwide.

b. Spanning five continents, the 33 member countries include Australia, Canada, France, Germany, Israel, Japan, Korea, South Africa, the United Kingdom, U.S.A., and Zambia.  Their mission is “all competition, all the time.”  Advocacy is important because it allows competition organizations to promote competition laws rather than direct government regulation.

c. Canada’s representative is Mr. Konrad Von Finkenstein, Commissioner of Competition at the Competition Bureau.  (Remember him from the bank mergers.)

d. The Merger Review Working Group’s mandate is to develop “best practices” regarding procedures, analytical framework, and investigative techniques for merger review.

e. The Competition policy Implementation Group’s mandate is to build capacity and implement competition policy in developing and transition economies.
Appendix A.  Case Study:  The Economics of the Microsoft Case.

Questions for Thought and Review

1.
The anti-trust case against IBM likely led them to pass on acquiring DOS fearing that to enlarge their control on the PC market may have forced a government enforced break-up. This took IBM out of the front of the PC market and it took years for their competitive position to improve.

2.

Microsoft was charged with having a monopoly in the personal computer operating systems market. In a dynamic view of the market, technological advances, such as open source operating systems and the merging of software and hardware, will see the market open to more competition in the future.
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Chapter 16: Social Issues and Economic Policy

Questions for Thought and Review

1.
A Pareto optimal policy is one that benefits some people and hurts no one. It’s hard to object to such a policy, although one could if one saw certain social values as inviolate. Such issues are, for the most part, academic, since, in reality, no such policy can exist. All real world policies hurt someone.

2.
The problem with proposing only Pareto optimal policies would lie in developing them. As the text points out, there are no examples of real-world policies that benefit some people without hurting anyone. If economists seek to propose only Pareto optimal policies they may end up proposing no policies. Focusing only on Pareto optimality condemns them to irrelevancy in real-world affairs, and to focusing on abstract models rather than on the real world.

3.
All economists are not likely to oppose any policy, price controls included. Economists will support or oppose policies based in part on value judgments and in part on their reading of the political and social institutions within which economic policies are instituted. Differences over these lead to differences in policy recommendations. Most, but not all, economists, based on their reading of history, oppose price controls.

4.
The usual arguments against the buying and selling of body organs include the concern that people might seek to make such sales for the money involved and exploit the poor, and that those with the ability to pay would get needed organs sooner than those without means, again favouring the rich over the poor. Some may believe that it is immoral to sell body parts. The argument for selling body parts is that it is a freely entered into transaction; the seller (since he or she decided he or she preferred the money to the body part) and the buyer benefits. Economic theory provides no answers to such questions.

5.
Some of this analysis will depend on whether or not the course is a requirement. If it is, taking it would have more benefits than if it were optional (in which case the benefits would be the knowledge gained, getting to know the professor, meeting other students you might not have met, etc.). The cost would be tuition expense, book(s), supplies, any added cost of transportation or food (because of the effect on your schedule), and the opportunity costs of courses not taken, professors not taken, students not met, etc.

6.
Students could consider what they would be willing to pay to reduce their chance of dying by a certain amount. The value of the student’s life is probably many times more than they could pay.

7.
Most people can (and many unknowingly do) function with only one kidney. Thus it can be argued that having two kidneys means having one more than you need to live a perfectly normal life. Aside from the expense, pain, etc., of having the kidney removed, selling one for a million dollars may sound like a good deal. However, should the remaining kidney become diseased, the seller would be left with no choice but dialysis, or obtaining a transplant himself or herself. The question is whether the million dollars is worth the risk. (There are also cultural and religious factors involved here.)

8.
An economist might propose a policy that has little chance of adoption because he or she might be removed from the concerns that make policies unadoptable (i.e., political concerns). In so doing economists put ideas into the real world, and may make people think and may influence the way they think. The goal behind policy proposals is not always to get them implemented.

9.
There is usually an inertia that makes any change difficult. This can explain the difference in attitudes. There seems to be no reason why people today would value their lives more than in the 1970s. The introduction of airbags also involved informational issues. People needed to be convinced that airbags save lives. In the 2000s there is still some debate about the negative consequences of passenger side airbags for children.

10.
Most politicians say that they are out to do the public good, but, in practice, they often, in their quest to be reelected, just do things that sound good, rather than are good.

11.
If the hourly wage is higher on welfare than in a job, rational individuals will choose welfare. The policy recommendations from such information are many. One could call for a much higher minimum wage. Alternatively, one could call for a reduction of welfare, or the establishment of subsidized day care as part of the support if the welfare recipient works. 

12.
Any decision about prisons involves complicated ethical and moral as well as economic considerations. In reference to the economic issues alone, it would seem that it does make sense to build more prisons since, assuming prisons are currently full, the marginal benefits of additional prisons are greater than the marginal costs. 

Problems and Exercises

1.
a.
The cost of the device is $12 per car (the benefit is .0005 x $8,000 = $4 per car). So, given the assumptions, it seems cost ineffective.

b.
The other costs of a car crash would be the costs of death or injury to the people involved (and perhaps costs of other cars and their passengers too), as well as damages to public and private properties. This could raise the costs considerably and make the device cost effective.

2.
a.
A higher percentage of births by C-section are done at for-profit hospitals, most likely because the profit margin for C-sections is higher compared to vaginal births.

 
b.
This incentive would be eliminated if the hospital received a fixed per-patient payment. In the case of fixed payment, the for-profit hospital would probably do more vaginal births since they are a lower cost method of childbirth. The C-section rate would most likely rise at nonprofit institutions as necessary C-sections are limited at for-profit hospitals and shift toward nonprofit hospitals.

3.
a.
Because the cost of using a road is now close to zero, excess demand results. In the graph below, excess demand is Qd - Qs. By charging a price of P1 to use the roads, excess demand could be reduced or eliminated.
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b.
Some will attempt to disable the readers. Other will share rides. Still others will shift to vehicles which don’t have readers, such as motorcycles. Still others will find out where the readers are and go around them, or if prices are to rise at certain time, go right before.

c.
Pre-peak load congestion might be avoided if the start of the peak load price is a lottery, say equally probable between 4 and 5 o’clock, with the knowledge after what time it is not available.

4.
a.
Since the supply of teenage baby-sitters shifted to the left just as the demand for them shifted to the right, the equilibrium wage probably rose dramatically, reducing the number of times parents go out without their children.

b.
The price of baby-sitters probably rose as described in (a).

c.
The average age of baby-sitters probably fell as parents loosened their requirements of baby-sitters in an attempt to find substitutes for the 14-17 year old baby-sitters.

5.
a.
The price of pigs will most probably rise as a new demand for pig organs develops, shifting the demand for pigs to the right.


b.
It is probably not Pareto optimal. Some people will be made better off, but individuals who feel that such use of pigs is immoral will be hurt. The rise in the price of pigs will also hurt some people.


c.
If this program were successful, it would significantly reduce the black market price of human organs since the black market would be replaced by an open market for organs.

6.
a.
If this were true, according to standard economic reasoning, the value of an additional dollar spent in preventing death is more valuable in Canada than in Sweden or in Portugal, and thus more money should go to saving lives in Canada. However, there are moral issues which complicate matters and make the answer unclear.


b.
This is a complicated question. Firstly, there are income differences between Canada and Portugal, and secondly it would be bad publicity for an airline to value lives of people differently by national origin or to even acknowledge making such a marginal cost/marginal benefit analysis with regard to safety precautions at all. Moreover, there are those sticky moral issues, which lead one to value all life equally.


c.
To the degree that the cost of the standard is the same, the standard economic answer is “yes.”  If noneconomic factors are included, as the answer is “no.”

7.
a.
If the issues of liberty (freedom of choice and from government regulation) are removed, it would make more sense to spend more on the improvement of car seat belt standards since its cost of saving a life is currently significantly below that of landfill disposal bans. There is, however, a cost imposed on individuals when they are required to wear a seat belt. When aggregated across all people, these costs could theoretically change the cost/benefit ratio.


b.
If these figures correctly value these regulations, then one should first look at other life saving expenditures to see if their cost is lower. As a general rule, lower cost regulations (with the same marginal benefit) should be imposed first.

8.
a.
The likely effect of that proposal would be a flood of criticism. Certain human rights such as the sanctity of the human body are held in high regard regardless of social status. A proposal that on the face seems economically sound is not acceptable if it does not include issues of human rights.


b.
That was the effect because the economic model did not account for all issues. Morality issues provoke strong political reactions.

9.
a.
If 70 percent choose male offspring, monogamous heterosexual marriages will be difficult to maintain as there will be too few women. Women might start having two husbands (as they do in some cultures). The average marriage age of women would likely decrease.


b.
It will likely push down the dowry since the quantity of demanded women significantly exceeds the quantity supplied (assuming the distribution of individual sexual preferences does not change).

c. On supply/demand grounds, a family would be wise to have a daughter since their relative importance would rise as the expected relative supply of girls declines.

Web Questions

1.
a.
Before the Great Depression, private religious or ethnic charities protected children against abuse and neglect, assisted the unemployed and the disabled, and provided nursing care to the sick and the elderly.  The Great Depression led to extreme hardship for many;  the promise of “never again” meant that as a nation, Canadians would not allow people to suffer such economic devastation and social despair again.

b. Federal government is responsible for “peace, order, and good government”, which includes spending on social insurances, for example, Employment Insurance, Canada Pension Plan (however, Quebec has its own, the Quebec Pension Plan), Old Age Security, Guaranteed Income Supplement, and spouse’s allowance.  The provincial governments are responsible for health and welfare.  The division of federal and provincial responsibilities led to power struggles between the two levels of government.

c. Major factors include aging population, and consequent shortage of skilled labour, widespread poverty despite Canada’s high average income and income growth, and stable but unequal income distribution as the income growth experienced by Canadians has not tended to favour the lower income groups and reduce the inequality.

d. Lifelong learning is an investment in human capital, which improves the country’s ability to produce, and to create and apply new knowledge, which are important in the “new economy.”  Recommendation:   Since the primary resource in today’s knowledge economy is human capital, “cradle to grave” lifelong learning is a national imperative.

2.
a.
Sen received his Ph.D. from Cambridge, U.K. after obtaining B.A.s from Calcutta University (economics major and mathematics minor) and Cambridge (economics).  Sen is interested in development economics and analyses such issues as social choice theory, famine (after having observed first-hand the 1943 Bengal famine in which three million people died), poverty, inequality, unemployment, and the living standards and lives of ordinary people, especially those who seem to have a worse time than others.


b.
Sen was born in Bengal, India, in 1933 to a lower middle class family.  His father and grandfather were professors who had strong commitments to social issues.  Sen attended a co-educational school which emphasized such values as curiosity (rather than competitive excellence), cultural diversity, and involvement with the rest of the world.  He also witnessed the social struggles and violence of sectarian politics which engulfed India in the 1940s.
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Chapter 17: Politics and Economies: The Case of Agricultural Markets

Questions for Thought and Review


1.

The paradox is the phenomenon of doing poorly because you’re doing well.  As illustrated in Figure 17-1, the increase in supply as the result of a good harvest lowers the price and results in less income to the farmers.  If demand were perfectly elastic (a horizontal line) the shift in supply would have no effect on price.  Thus, the more elastic the demand, the less the effect on price and the less likelihood of the paradox.  It’s important to emphasize that the paradox refers to the entire market.  The worst of all possible cases is where you have a poor year, but other producers have a good year.  In this case you receive a low price and have a low output.

2.

A price support system achieved through acreage restriction is illustrated in Figure 17-5.  The graph shows that under this system, the farmers gain rectangle A as income from the government in the form of payments not to grow wheat, and rectangle B from consumers who pay more for the wheat the farmers do grow.

3.

Generally, there is a positive relationship; low risk generally implies low reward, while generally one receives a high reward for taking a high risk.  However, for the farmer, his high risk is met with low reward.  
4.

As shown in Figure 17-7, the method of price support that is most costly to the taxpayer is the subsidies on sales to keep prices down; taxpayers must finance the subsidy payments on all subsidized farm products.

5.
As shown in Figure 17-4, the method of price support that is least costly to the taxpayer is regulatory measures, which have no direct cost to taxpayers other than the cost of enforcing and administering the regulations.

6.
Tariffs and quotas generally accompany price support systems in order to prevent lower priced foreign produce from competing in the domestic market.

7.
In the long run, income inelastic demand grows at just above the population growth rate,  plus technological advances shift the supply rightwards at a faster rate.  This combination means that in the long run, price will fall.

8.
Governments find grand fathering a good option when they institute price supports because it is the easiest way of restricting participation, and supply.  Suppliers retain their level of output, added or new entry is denied or limited, and the policy is easy to enact and easy to enforce.

9.
This is an extremely broad statement.  As the chapter points out in detail, all government regulation has benefits and costs, and so one must assess the net impact. It seems highly unlikely that all government intervention would make society worse off . Whether society is worse off must be based on judgments about historical experience, not on theory.

10.
The basic answer is that government believes there is a problem with the market solution.  Either there is a market failure, or a market outcome failure.  In farming, it is a combination of the two. 

Problems and Exercises

1.
a.
The graphs below illustrate the effect of a supply increase in each of the four situations presented in the question. When supply is inelastic and demand is elastic, the increase in supply causes a small change in price and a larger change in quantity. When supply is elastic and demand is inelastic, there is a larger change in price and a smaller change in quantity. When both are elastic, there is a small change in price and a larger change in quantity. When both are inelastic, there is a large change in price and a smaller change in quantity.


[image: image2.wmf]Quantity

Price

Quantity

Price

Price

Quantity

Price

Quantity

(1)

(2)

(3)

(4)

Q0         Q1

S1

S0 

S1

S0 

S1

S1

S0

D

D

D

D

Q0 Q1

Q0   Q1

Q0 Q1


b. The effect of a government price guarantee in each case is illustrated in the graphs below. In each graph, A is the increase in farmers’ revenue, B and C is the decrease in their revenue, and C and D is the deadweight loss, the loss to society that results.
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c.
Farmers prefer the situation with the inelastic demand and elastic supply. In each graph, A is the increase in farmer’s revenue, B and C is the decrease in revenue, C and D is the deadweight loss, the loss to society.
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2.
In the first panel above, an increase in demand sufficient to raise the market price to Ps is shown. The market quantity is also increased to Qs. The cost to the government is the bolded rectangle. If instead supply is restricted, the government must pay the farmers (Ps - P1) for every unit not grown at price Ps, resulting in a cost equal to the area of the bolded rectangle in the second panel. Therefore, assuming that you cannot use the corn, the second policy is preferred.

3.
a.
The regulators under Dr. Wiley’s Law have likely been subject to strong lobbying by the food industry to protect their own interests from competition under the guise of consumer protection.

b.
A skeptical economist would likely look at the effects of this law on prices and competition to determine the motives behind passage of the law.


c.
This is very significant because it suggests that it was the lobbying of existing producers that supported the law to protect their interests from the new products, that led to the law, not the consumer’s interest.
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4.
a. 
Consumers of peanuts pay more in higher prices-estimated at between $190 and $369 million a year-and suffer from reduced consumption.


b.
See the graph on the right. Area B represents additional costs to consumers while areas D and E represent deadweight loss of the program.


c.
The land with peanut quotas is a government license to sell millions of pounds of peanuts and thus is priced higher to include the present value of the future returns to that license.


d.
The governmental costs would likely rise enormously in its attempt to keep supply constrained to maintain the 50% above competitive equilibrium price.

e.
If the U.S. limited the guaranteed high price only to U.S. producers, administrative procedures would have to be set up to see that imported peanuts are not passed off as U.S. produced peanuts.

5.
a.
Mr. A would be willing to spend up to $100,000 to stop passage of the law.


b.
Mr. B would be willing to spend up to $100,000 to get the law passed.


c.
The implications for social policy is that individuals are willing to spend lots of money to pass laws that benefit them as individuals. A reduction in such rent seeking would benefit society if the ability of individuals to affect laws is curtailed.

6.
a.
Each person would be willing to spend up to $100,000/100 = $1,000 to stop passage of the law.


b.
Mr. B would be willing to spend up to $100,000 to get the law passed.


c.
One would expect the law to be passed since it would be difficult to get all 100 people together to spend up to $1,000 each to stop the law.

Web Questions

1.
a.
The five major agricultural sectors of Canada are:  grains and oilseeds (34% of farm receipts), red meats (27%), dairy (12%), horticulture (9%), and poultry and eggs (8%).  Two main grain and oilseeds production areas of Canada are:  The Prairies (Alberta, Saskatchewan, and Manitoba) and the Peace River district of B.C.; and Ontario and Quebec (mainly corn and soybeans).  The top three crops of the grain and oilseeds sector are:  wheat, barley, and corn.


b.
The dairy sector is the third largest agriculture sector in Canada.  Seventy percent of dairy production occurs in Ontario and Quebec.  Dairy production is stable because it operates under a supply-management system, with quotas allocated according to expected demand.

c. The number of farms in Canada stood at 276,548 in 1996.  The number of farms has declined, the area cultivated has remained stable, so the average size of farm has increased.

2.
a.  Programs will change from year to year, but current programs include $755 million for grains and oilseeds, and assistance for ruminant slaughter.


b.
In the Agricultural Policy Framework, government is working with farmers and the agriculture and agri-food industry to develop and implement safety and quality-control systems, from the field to the table. They are also developing ways to track and trace products through the entire food chain, known as the agri-food continuum.  This involves three elements:  food safety, food quality, and traceability.
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Chapter 18: International Trade Policy

Questions for Thought and Review

1.
If Widgetland produces only widgets, it can make 240 of them and the opportunity cost is 1/1. If Thingland makes only things, it could produce 720 of them at an opportunity cost of .25/1 (widgets to things).  Since the opportunity costs differ, there is a basis for trade in production.  Widgetland should produce only widgets 240, and trade 60 of the widgets for 120 things.  Thingland should produce only 720 things and trade 120 things for 60 widgets.  Both countries will be better off.

2.
a. 
The countries can move to those points through specialization and trade.  Machineland has the comparative advantage in machines and should specialize in them and trade them for food from Farmland.  If Machineland produces 200 machines and Farmland produces 200 of food, then they can trade on a 1 to 1 basis to reach points B and D.


b.
At points A and C the total production of machines is 110 and of food is 170.  By specialization the total production of each would increase to 200.


c.
Your share should compensate you and still allow for the two nations to gain from trade.  Eventually the above-normal returns will be competed away.

d. Economies of scale would mean that the production possibilities curves would not be straight lines, and would be a further argument in favour of specialization.

[image: image17.wmf]Quantity

Price

MC

D 

Pc

Qm       Qc

0

MR

Pm

3.   a.  The opportunity cost for Greece of making 1 million olives is 1 thousand pounds of cheese.  The opportunity cost for France of making 1 million olives is 250 pounds of cheese.  The opportunity cost for Greece of making 1 thousand pounds of cheese is 1 million olives. The opportunity cost for France of making 1 thousand pounds of cheese is 4 million olives.  If they each specialize in the good for which they have a comparative advantage and then trade, they can attain combinations outside their production possibility curves without trade.  For example, France can be at point B, and Greece can be at point A.

b. They are worse off since France has a comparative advantage in producing olives and Greece has a comparative advantage in producing cheese.  Their trade curve is shown by the dotted line.

c. There would be no trade as Greece is worse off at the implied relative prices.
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4.
a. 
The production possibility curve is shown in the graph on the right.


b.
Since Busytown can produce more cars when all of its resources are devoted to producing cars, Busytown has an absolute advantage in producing cars. Neither has an absolute advantage in producing gourmet meals since if each devotes all of its resources to producing meals, each can produce 50.


c.
Lazylake has a comparative advantage in gourmet meals. It must give up 1 car for each gourmet meal while Busytown must give up 1.2 cars for each gourmet meal. Therefore, Lazylake has a comparative advantage in making gourmet meals.


d.
Busytown should produce 60 thousand cars and Lazylake should produce 50 thousand meals. Lazylake then offers Busytown 22 thousand meals for 24 thousand cars.  Since Busytown must give up only 24 thousand cars for 22 thousand meals (instead of the 26.4 thousand cars it would have to if it made 22 thousand meals itself) it accepts this offer.  Lazylake ends up with 28 thousand meals and 24 thousand cars while Busytown ends up with 22 thousand means meals and 36 thousand cars. 

5.
Traders get big gains from trade in newly opened markets.  The more competition that exists in international trade, the more of the gains pass to the citizens and less to the trader.

6.
Smaller countries tend to get more of the gains from trade because proportionately more opportunities are opened up for them.  But this is true only under the condition that competition among traders prevails.  International traders in small countries often have little competition from other traders and so keep large shares of the gains from trade for themselves; hence the small country may not get the gains from trade.

7.
Countries producing goods with economies of scale get a larger gain from trade.  Trade allows an increase in production and if there are economies of scale, thus can lower the average cost of production, therefore, lower the price of the good in the producing country.

8.
An equitable method of funding trade adjustment assistance might be to tax those who gain from the trade liberalization and give the proceeds to those who are hurt by the trade liberalization.  The gainers include producers who gain from lower input prices and consumers who would pay less for the goods they buy.  Assuming the original distribution is equitable, and the government is not trying to redistribute income, this method is equitable because everyone is left better off.  The political problems with implementing such a method are: (1) Everyone will try to exaggerate the amount they are hurt, and minimize the amount they are helped.  Thus actually finding a tax that accomplishes the goal will be difficult. (2) Once the taxes and subsidies are in place, they may not be removed after the adjustment of displaced workers is complete.  Losers will be overcompensated and gainers will be taxed too much.

9.
The answer in part will depend on what advice is being given.  Most economists would argue that some trade restrictions might benefit a country, but almost no country can limit its restrictions to the beneficial ones.  Most economists would not recommend them, even in a recession.

10.
A recession generally results in a decrease in income and imports and an improvement in the trade balance.  In the short run, the effect will be to lower the trade deficit/increase the trade surplus.

11.
Economists support free trade because it forces domestic producers to operate efficiently and it increases consumer welfare.

12.
Tariffs and quotas have similar effects on limiting trade (both shift the supply curve to the left).  The big difference is who gets the revenue from the resulting increase in the price of imports.  With a tariff the government gets the revenue.  With a quota, the revenues accrue to the producers.  Refer to Figure 18-4.
13.
The effect of voluntary restraint agreements is identical to the effect of quotas. They directly limit the quantity of imports, increasing the price of the good and helping the domestic producers.  The tariff raises the price of the product thereby encouraging consumption of the domestic good.  Both types of restrictions help domestic producers.

14.
This is a normative question.  Some aspects to think about would be your concern about the health of Mexican workers, if there is any health concern to Canadian consumers, and how does the price affect the Canadian growers.

15.
With a price floor, there is a loss of consumer surplus, higher prices and lower quantities.

16.

The benefits are that there will be more internal competition among the four countries. The danger is that the combination of countries might place stronger restrictions on outside goods, thereby decreasing international competition.

Problems and Exercises

1.
a
Since their opportunity costs differ, they can gain from specializing: Graneland will produce only wheat, and Corny Island will produce only corn.  If Corny Island produces only corn, it can increase its production of corn by 60 million to 180 million.  Similarly Graneland can increase its production of wheat to 180 million.  There is now 180 million bushels of both to be divided in whatever way the countries decide, making it possible to meet the distribution given in the question.

b. The trader would get 20 million of each product. 

2.
a.
No.  Both countries’ opportunity cost of producing pickles is 2/1 (they must give up 2 olives to get 1 pickle).  Neither has a comparative advantage so there is no basis for trade.


b.
If there are economies of scale, it definitely pays for both countries to specialize since doing so would lower total costs.  Which good each should specialize in is an open question since neither has a comparative advantage.
3.
a.
The gains to domestic producers is shown in the graph to the right.  Domestic producers now produce B at Pt instead of A at Pw. Domestic producers gain additional revenue shown by areas FHKG and ABKE.  
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b.
The revenue to the government is the quantity supplied by foreign producers, BC, multiplied by the tariff.  This is shown in the graph on the right as HIJK. 


c.
The cost to domestic producers to produce additional units is shown by area ABKHE.


d.
The gain to domestic producers is greater than the cost to domestic producers by area FHEG.

4.
a.
Firms may produce in Germany, because (1) transportation costs in the other countries may be very high, so that if these costs are included, it would not be efficient to produce there; (2) there might be tariffs or quotas for imports into Germany that will prevent producing elsewhere; (3) the productivity of German labour may be so much higher that unit labour costs in Germany are the lowest; and (4) historical circumstances may have led to production in Germany and the cost of moving production may exceed potential gains.


b.
Yes, one would expect some movement from Greece and Italy into Germany, but this is limited by the minimum wage laws in Germany.  Also, social restrictions such as language and culture will limit labour mobility.  With high unemployment in Germany, however, one would not expect much short-run movement.  Movement in the long run, however, may be substantial.


c.
I would need to know the stability of politics, the worker productivity, the infrastructure such as roads, as well as tax differences between the two countries.

 5.
a.
The subtitle most likely means that around election time, government officials offer to impose tariffs and quotas to protect industry and “buy” the votes of those who benefit at the cost of increased prices to consumers.  This can be done because the small group who will reap large gains will be better organized than the larger group with similar losses but lower per person costs. The larger group will not likely vote based on this issue, but the smaller group will.


b.
It would most likely impose quotas since it eliminates foreign competition while a tariff allows some competition.  The protected industry will benefit more from a quota by reducing competition, and it is the votes from this industry that government is most likely targeting.

6.
a.
Three assumptions are that the good is tradable, the transportation costs are minimal, and the taxes between the two countries do not differ significantly.


b.
To the degree that production facilities and labour can move easily, the law of one price should hold for labour too.  Given the wage differentials that exist among countries with seemingly equivalent productivities, it seems that these conditions do not hold for labour.

c. Since capital is more mobile than labour, the law of one price should have a greater tendency to hold for capital.  Financial capital is a great example.  Interest rates among countries tend to equate much faster than wages.

Web Questions

1.
a.
WTO uses a multilateral system of consultants and panels of experts and a set procedure to settle disputes.


b.
The timetable for the settlement procedure is to complete it within one year, 15 months if there is an appeal.

d. If a country chooses not to abide by the dispute agreement, the penalty can be trade sanctions, if possible in the sector of the dispute.

2.
a.
The members of Asean are: Indonesia, Malaysia, Philippines, Singapore, Thailand, Brunei Darussalam, Cambodia, Laos, Myanmar, and Vietnam. The members of Mercosur are: Argentina, Paraguay, Uruguay, and Brazil. 


b.
Asean was established in 1967 with the first five countries.  Mercosur was established in 1991.

c. Asean states that the aims of the association are 1) to accelerate the economic growth, social progress and culture development in the region through joint endeavors in the spirit of equality, and 2) to promote regional peace and stability.

Mercosur’s stated objectives are: 1) Free transit of production goods, services, and factors between the member states, the elimination of customs rights, and lifting of nontariff restrictions; 2) Fixing of a common external tariff (TEC) and adopting of a common trade policy with regard to nonmember states; 3) Coordination of macroeconomic and sectoral policies of member states relating to foreign trade, agriculture, industry, taxes, monetary system, exchange and capital, services, customs, transport and communications, and any others they may agree on, in order to ensure free competition between member states; and 4) The commitment by the member states to make the necessary adjustments to their laws in pertinent areas to allow for the strengthening of the integration process.


d.
Combined GDP in Mercosur countries was $715 billion in 1993.  Combined GDP in Asian countries was $737 billion in the late 1990s.
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Chapter 19: Who Gets What?  The Distribution of Income 

Questions for Thought and Review

1.
Research has shown that income differs substantially between men and women.  Some of these variations are the result of sociological and cultural differences, but a substantial fraction is the result of discrimination.  There is no evidence to indicate discrimination exists on the basis of hair color, although there might be some.

2. 
The top 20 percent of individuals in Belarus earn 33.3 percent of the income.

3.
A Lorenz curve is a geometric representation of the size distribution of income among families in a given country at a given time.  To do this just for lawyers, you would be showing how income is distributed just among members of that profession. (It might surprise people to find out that the distribution is not as even as they might think.)

4.
Arguments could be made for both approaches.  Poverty could be defined relatively since one of our concerns about the distribution of income is the gap between the rich and poor. Poverty could also be defined absolutely since another of our concerns is that people have enough to eat, which is an absolute concept.

5.
Nowadays, classification is based on characteristics other than source of income, including education, job skills, and career.  Using these factors one could argue for a class distinction between managerial decision makers and other workers.  Whether it makes sense to do so depends upon the light it sheds on social and economic problems.

6.
The observed difference may be due to supply and demand factors.  If many people wish to be English teachers and few wish to be garbage collectors, then market factors will result in a higher wage for the garbage collectors, and if one believes in the market mechanism, this is right.  That question raises complicated questions about fairness of compensation, and the social value of different occupations; it has no right answers.

7.
This question raises issues of fairness and equality, and requires value judgments.  As the author notes, considering the circumstances that have led to someone starving or being homeless, or that are involved in someone’s consumption of chocolate, will affect some people’s judgments about the appropriateness of society’s response.

8.
The answer to this question will depend in part on the individual student’s circumstances.  In general, the incentive effects of a tax may result in a switch from labour to leisure.

9.
Expenditure programs have been quite effective as a method of redistribution; taxation has not proved effective.

10.
On the surface the democratic system of one person/one vote would seem to suggest that the politics of redistribution would favour the poor, but it doesn’t.  One would expect that the poor would use their power to make sure that income was redistributed to them from the rich, but they don’t.  The reasons why not include the fact that many of the poor don’t vote, and so consequently they are not seen as a voting block by politicians.  Another, reason is that when people do vote they vote with other issues in mind.  Also, campaigns require financing, which is often supplied by the rich, and so their interests may be more represented than those of the poor.
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Problems and Exercises

1.
a.
See the graph on the right. 

b. A perfectly equal distribution of income would be shown by a diagonal line; thus the country with the most equal distribution of income among the three is the Czech Republic.

c. The country with the least equal distribution of income among these three is Mexico.

d. One could not tell which country has the most progressive tax system without looking at the curves over time.

2.
a.
Taking into account in-kind benefits and non reported income would reduce the number of people seen to be in poverty.  Taking account of regional differences would complicate the measure.  Taking into account unreported income would reduce the measure of poverty. Taking account of home ownership and cost of living differences would involve distributional consequences.  It would raise the level of poverty for some, and lower it for others.


b.
What is fair involves normative judgments.  Even if the adjustments were made one could still argue that the current definition of poverty is too low, and argue for an increase in benefits.

3.
If people’s desire for equality is so great that any sense of initiative is undermined, economic growth based on individual initiative is impossible.

4.

Four conditions that students might list before they would favour equality of income are (1) that individuals have essentially the same needs; (2) that they work the same amount; (3) that they have essentially the same health; and (4) that they have put in the same effort up to this point.


a.
Depending on what conditions they listed, it could change their views on welfare in a number of different ways.

b.
Again, it depends on what conditions the students chose. If the condition does not include differences in ability, then they would likely favour a progressive income tax.


c.
If the tax were progressive in wage rates, rather than income, hard work would be encouraged and raw ability would be taxed more.  If the student did not list ability, then they should say that the conditions would be better met.

5.
a.
You will pay no tax on the first $10,000, $5000 on the next $20,000, $6000 on the next $20,000, and $8750 on the remaining $25,000, for a total tax payment of $19,750.


b.
Dividing $19,750 by your income of $75,000 gives an average tax rate of 26.33 percent. The marginal tax rate will be the tax on one more dollar of income, which in your case will be 35 percent.


c.
If the two systems are designed to bring in the same amount of revenue, the question will be how that revenue is collected (meaning from whom) and that is hard to assess without knowing more about what conditions will make someone eligible.

6.
a.
This would increase the incentive to work since working longer hours will not push one up into the higher tax bracket.


b.
To the extent that the wage rate measures taxability better than does income, this tax system is fair.


c.
Making the tax system regressive in hours worked would further increase the incentive to work longer hours.

d.
Instituting such a tax system faces enormous difficulties.  Wage rates for each individual would have to be measured, and many positions have no explicit wage rate.  Some method for calculating wage rates of salaried positions would have to be designed.

Web Questions

1.
a.
Capital gains are presently taxed at 50%.


b.
The alternative minimum tax, AMT, is an alternative set of rules to determine the minimum tax one should be required to pay. It is an extra tax some have to pay on top of regular tax. The original idea was to prevent people with high incomes from using special tax benefits to pay little or no tax.

c. Education credits are tax benefits to help with the cost of higher education. 

2.
a.
Highlighted issues include:  the nature and evolution of poverty, causes of poverty, social barriers, social institutions’ role in eliminating poverty, risk management, and economic crises and natural disasters.  The report looks at population growth, education, health, agricultural productivity, land and water use, deforestation, income distribution, economic growth, balance of payments, and communications infrastructure.


b.
Economic policies which drive growth include:  education, health, and economic institutions, including market-based economy, openness to trade, sound monetary and fiscal policies, and well-developed financial system.

c. Answers will vary somewhat, but should reflect the importance of such variables as education, population, health, fiscal and monetary policies, and infrastructure in explaining the wealth of nations.

[image: image22.wmf]Wage

Quantity of workers

D

S

Qm Qf

Wf

Wm

MFC


Chapter 20: Work and the Labour Market

Questions for Thought and Review

1.
Social and political forces are more active in the labour market than in most other markets because of the key role of the labour market in determining people’s income and the key role jobs play in a person’s life.  People often define themselves in terms of their jobs.

2.
This chapter opens with a quotation from Voltaire: “Work banishes those three great evils: boredom, vice, and poverty.”  Welfare laws, to the degree that they discourage work, therefore can be said to harm the people they are meant to help. While they help people in the short run, they establish a dependency relationship, which can hurt them in the long run.

3.
The elasticity of the labour supply is measured by the percent change in the quantity supplied divided by the percent change in the wage.  In this case, 5 divided by 20 is less than one (it is .25) and so the supply is said to be inelastic.

4.
A choice of a career should be made on the basis of what you will enjoy and be good at.  Assuming these were equal, expected income can play a role.  Since plumbing generally requires a license and carpentry does not, it is likely that monopoly rents will be higher in plumbing, which is why he was so advised.

5.
Supply/demand analysis is partial equilibrium analysis; immigration policy often affects the general economy and, thus, requires an analysis of spillover effects and changes that partial equilibrium analysis cannot capture.

6.
As you can see in the graph below the minimum wage causes a difference between the quantity supplied and the quantity demanded.  Economic theory does not tell us that such a law would be a bad idea.  That depends on what one’s goals are and how one judges the redistributional consequences of the minimum wage.
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7.
If the labour market were monopsonistic so that the pay were less than the competitive wage, the minimum wage could change the effective supply facing the monopsonist and could raise the wage and increase employment simultaneously as the graph on the right.  In the graph, the monopolist would hire Qm workers, paying Wm.  With a minimum wage Wf, higher than Wm, the monopsonist would hire Qf workers, higher than Qm.

8.
Pay equity laws would likely politicize the labour market much more than it currently is politicized.  It would involve an enormous increase in government involvement in pay.

9.
The fact that unemployment among youth is high can be explained by many factors, including discrimination.  However, young people often have little work experience and may be trying to balance work with education, which means that many jobs (example, full-time permanent) are unsuitable to their current needs.

10.

On average, women receive about 65 percent of the pay that men receive to do the same kind of job.  Somewhat more than half of that difference can be explained by factors like length of time on the job, but there is still a relatively large difference that can be attributed to discrimination.  There are also sociological and structural factors affecting women’s pay, for example, women changing jobs to move with her partner (thus lowering her average pay) or women taking a larger role in child care (and therefore perhaps missing work or meetings), again resulting in lower pay and reduced opportunities for promotion and advancement.  The reasons that are most responsible for the difference may vary from situation to situation.

Problems and Exercises

1.
At a wage of $7.00 they would hire 33 workers.  If the price of the good fell to $1.00, the marginal revenue product would fall and they would reduce the workers they hire to 30.

2.
A likely reason for the switch is technological advances that lowered the cost of machines or a rise in the relative pay students demand.

 3.
Yes.  Widespread introduction of such programs would likely reduce the demand for teachers and lower their pay.

4.
It can pay up to the marginal revenue product or up to $9.00.

5.
If the firm were a monopolist, the marginal revenue would be less than $3.00, and thus the amount they would be willing to pay would fall.

6.
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7.
a.
The proposal that should be adopted is the one that minimizes costs.  Using the cost minimization condition, proposal A is the one that minimizes costs (30/5 = 42/7 = 36/6).


b.
If the price of labour rises to $14 none of the proposals meets the cost minimization condition.  There are other combinations that would meet the cost minimization condition.

8.
a.
It seems that the market pays more for individuals who are good looking.  This could be due to the fact that appearance is directly related to the productivity of individuals, who have to deal with customers on a one-to-one basis such as in sales positions.  Or it could be that appearance correlates with some other variable such as higher self-esteem, from years of compliments, which increases productivity.  There is insufficient information to make any conclusion.


b.
The findings do not necessarily mean there is looks discrimination; however, it is a case where further investigation might reveal discrimination.


c.
The greater the pay penalty for men might relate to the fact that more men hold more high level, high visibility, jobs where appearance is a larger factor in productivity (demanders of the product prefer good looks).  There also might be more correlations with other variables in males than in females.

9.
  
Based upon standard economic theory, one would expect the number of new workers employed to rise and the employment of experienced workers to decline as the relative wage of new workers declines.  This assumes that the minimum wage is above the market clearing wage.  Further, one would expect that a large number of employees would lose their jobs at the end of their training period (6 months) for “just” reasons, such as they did not learn their job adequately.

10.
a.
One would expect economists’ salaries to decline or rise less than average salaries.

b.
Since economists are bright, dynamic individuals, it is likely that they will leave the traditional market for economists and either start their own business or accept jobs in other markets or in other countries.  This would mitigate the decline in their wages.

c.
In most markets, prices do not adjust downward quickly for institutional reasons.  In the meantime, the supply curve may shift inward as unemployed economists leave the market altogether.  Currently employed economists have an incentive to see that their salaries do not fall and will work toward keeping their salaries high by limiting the number of new Ph.D.’s or by using social influences to keep their wages from falling.

11.
a.
Since they will have to pay 20% of what they save in added tuition in addition to the 20% income tax rate, the implicit marginal tax rate they face on income they save will be 36%. The tax on assets is a tax on savings after income taxes have been subtracted, so the tuition tax has to be adjusted to make it a tax on pre-income-tax income.  So the relevant tax on tuition as a percent of pretax income is (1-ti)*tt = [(1-.2)*.2 = .16] where ti is income tax and tt is the tuition tax. Add this to the 20% income tax and get 36%. 


b.
The second child will raise it to 48.8% = [(1-.36)*.2+.36]*100.  The third child will raise it to 59.04% = [(1-.488)*.2+.488]*100.

c. This is a complicated question, but one could argue that divorced parents share in the obligation to pay for college equally and therefore the relative incomes and asset shares of combined incomes and assets should be used to determine contributions.  In reality one parent might alone bear the burden of the cost, having to shoulder contributions by both.  The second part to this question is for the student to research.

d. An ability-based scholarship program would attract significantly higher caliber students if their elasticity of demand is high, but would most likely compromise the diversity of the student body with respect to income.  It would also promote retaliation by other schools, and the long run benefit in brighter students might be very small.


12.
a.
Firms pay above “market wages” because they want to establish close personal ties with their workers.  Doing so can lead employees to work at maximum efficiency and the gain in efficiency may exceed the additional cost.  If so, it is known as an “efficiency wage.”  When firms do so, it would be an example of social forces modifying the invisible hand result.


b.
Firms do not change wage rates much when demand fluctuates both to keep good social relations with workers and also, in some instances, to avoid violating contracts that determine wages.  Lowering wages when demand declines would lead workers to expect higher wages paid when demand rises to remain, even when demand falls at some future date.  This is an example of social and political (legal) forces modifying the invisible hand result.


c.
Colleges and universities keep wages of various disciplines roughly equal to keep good social relations with the workers. Pay will vary somewhat because of market conditions in the disciplines, but generally social issues predominate.  So again this is an example of social forces modifying the invisible hand result.  In addition, faculty at most universities and colleges belong to a faculty association (union) which bargains on behalf of all members.

13.
a.
Firms hire children because children’s marginal productivity relative to their wage is higher than it is for alternative workers.  Children’s marginal product to wage ratio could be higher because the child wage is lower or because the marginal product is higher.  Children are often full of energy, pliable, and dexterous.  For certain type jobs these traits could make the children’s productivity high.  Children may also be more trainable that older employees, and they may work for a lower wage. 


b.
Children work for the same reason that others work, either because they need and money or because it is what is expected of them.

c. In deciding whether there should be an international ban on child labour, one must look at the effects of that ban.  What are the children’s opportunity costs of working?  If the ban will lead to children starving, the ban does them no good; if it leads them to go to school, and the firm hiring the parents instead, the ban may help the children.  One must also look at the ease with which some firms may get around the ban.  If it can be easily avoided in some countries, then the ban will likely hurt children in those countries where it is effective.  Also, one should consider whether the children get anything useful (such as education) besides pay from their work.

Web Questions

1.
a.
Pay equity, according to CHRC, means fair pay for jobs, and addresses gender-based discrimination in the wage setting system.


b.
Guiding principles are (1) gender neutrality, (2) all aspects of the job must be included, (3) clear and understandable job evaluation, (4) all jobs are visible, (5) all people involved must be open to change, (6) evaluation is done within context of organization, and (7) consistency.

c. The CHRC believes women are still segregated into a few low-paying occupations. Anti-discrimination laws cover pay equity within occupations; the goal is not to change the kind of work women do.

2.
a.
The Labour Force Survey reports on employment and unemployment for a variety of groups, such as women, youth, students, professionals, private sector, provincial, male/female, goods-producing and services-producing sectors, part-time, and full-time employees.


b.
Answers will vary depending on the current state of the economy.  There will also be regional disparities, sectoral differences, and differences between other characteristics, such as men and women, and youth.

c. Answers will vary according to student experience.  Look at the Table entitled “Employment by Industry (NAICS).”
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